(TF1 6 & 4R 51)

HP

&t

i =

LiRkA KEEHOS Bz H
. ] =] fEuE
£/H s = IRA%E | &R
MEFRE PR | KR | KEE | ook | SR PERHTHEAR AGR | S5 |ses
R6.4.10 BT 270,000
R6. 4. 26| TSSO —EE A 4,200 4,200 1
R6. 4. 26 E Sl Sk 5,500 5,500 2
RE. 4. 26| 12—k ikt —ER & H 9,000 9,000
A &t 270,000| 18,700 | 9,000 9,700
2 & 270,000 18,700 { 9,000 9,700
X OAARTREL TS,




= 1) "R i

(Ff 6 & 585) LkA KREFOS B - M
5] B i

£RH A IRASE | XHi4E

= mEnE| GBE | maR | KER | Thg%| SBE ENERBEHEAN AHR |SEAE ses
R m— 4,200 4,200 4
R6.5.1 T 5,500 5,500 5
R6.5.10( B 17 AT S 4R AR A 132,000 132,000 6
R6.5.27| JE—HL U ZILE 3,300 3,300 7
R6.5.27| (s sorssssior—mmm 9,000 | 9,000 8
A i 154,000] 9,000 3300 | 141,700
R 270,000 | 172,700 | 18,000 3,300 | 151,400




A = A
=~ = P& S
(=0 6 & 6845 =B KREFO= B - H
1" H iEinE
F£HAH N = IRA% | X%
wEwER FEE | nux | LES Ff;-fgj’% 2EE [EHERBINIAY AGE | SBTE|s8s
R6.6.1 | FREEHO—~E{ER 4,200 4,200 9
R6.6.1 b Sl Sk 5,500 5.500 10
R6.6.1 [ roa—svhE@tn—anER 9,000 | 9,000 11
R6.6.27] IE—HLRILH 3.300 3.300 12
H E§ 22,000 | 9,000 3,300 | 9,700
2 i 270,000 | 194,700 | 27.000 6,600 |161,100




A -:- b
= Bt 11 &
Rrkal 6 & 78 5) SikE KBR#EFO= Bfr - A
IH =] pIE S

EAH " B IR AZE | &

= METRE| WER | SRR | GRE |Cops| SME RHERATIBAN ABE |$BTR|ves
R6.7.1 iR R 5,500 5,500 13
R6.7.10 B En S 270,000
R6.7.26| 1o 8—aukopgso—8aE 9,000 9,000 14
R6.7.26 I B 4,200 4,200 15
R6.7.29{ O’ —#EL> 4 )L 3,300 3,300 16
A & 270,000 | 22,000 | 9,000 3,300 | 9,700
2 F 540,000 | 216,700 36,000 9,900 | 170,800




A = £
= it & P
(=0 6 8 H %) Sk KEHEFOE Bfr -
] B
F£AAH 7] = IRA%E | ZHEE
WERRR| TER | K6R | KBR | cank| SHE [REERETABAR AR |SBTR
R6.8.1 SRR SR 5500 5,500
R6.8.1| THEUSREE{ER 27,500 27,500
R6.8.2| TEIREZ/ER 11,658 11,658
R6.8.26 | RSB Kl O —ERfE A 4,200 4,200
R6.8.26 | 12 a—xyhistio—a % m 9,000 | 9,000
R6.8.27| IE—#L 4L 3,300 3,300
A i 61,158 | 9,000 42458 | 9,700
2 i 540,000 | 277,858 | 45,000 52,358 | 180,500




O = .
= BT IR &
S F0 6 4E 9H ) k% KEREHFOE B . H
5 =i SHinE
£H/H8 7| = IRAZE | ZBE ——
MEFRE| FER | GHR | LER | oot | MR FAERMESEAN ANE |EHR|ves
R6.9.1 iR E 5,500 5,500 23
R6.9.26| 42 #—o SO — 88 9,000 | 9,000 24
R6.9.26 | iR BE AL O — &1 A 4.200 4.200 25
R6.9.27| abF—#&L %)L 3,300 3,300 26
B 99000 | 9,000 3,300 | 9.700
2 % 540,000 | 299,858 | 54.000 55658 | 190,200




. = A
= £t & &
(S #0 6 F 1084) £kE KEHTOS B4 - {
B =] e
£R08 n B RAZE | ZH%E
PEFRE] GHE | LR | DR | ook | SHE RERRTABAT AGR | SBTR|ses
R6.10.1 bbb 5,500 5,500 27
R6.10.1 | 12 5—+vhEstio— &R 9,000 | 9,000 28
R6.10.10 BEEEE 270,000
R6.10.28| FrE BB Hl O —EE A 4,200 4,200 29
R6.10.28] aF—L %)L 3,300 3,300 30
H & 270,000 | 22,000 [ 9,000 3,300 | 9,700
% 5 810,000 | 321,858 | 63,000 58,958 | 199,900




O = 4
= £t & T
(&M 6 & 11859 £iRE KER#EFOE B . A
. 15 B SHIRE
£HAH A = IRAZE | XHEE =E TR
mEmRE WEE | nEr | GBR |gopl | SHE EOEREISEAN AR | SHTR|sEs
R6.11.1 | s~k o iEgsn—E R 9,000 | 9,000 31
R6.11.1 s 5,500 5,500 32
R6.11.26| FTRAREST & O — &R BB 4,200 4,200 33
R6.11.27 aF—H#L > &JL 3,300 . 3,300 34
A & 22,000°] 9,000 3,300 | 9,700
2 i 810,000 | 343,858 72.000 62.258 | 200,600




Hp

at

IR

i

BrLil 6 &E 12845 =ik KE#HHOS Hfz : H
=] =i - =

FHEB 23 = IRAEE | ZHE =

muwnn TR | LEE | KBE ﬁfgﬁ“g LHE [EHERETHEAY ALE | TBHTE|zss
R6.12.1 b Bk, 5,500 5,500 35
R6.12.26| BTRARE D —EEH 4,200 4,200 36
R6.12.26| 1> 52—huritGE o—tB A 9,000 9,000 37
R6.12.27| aE—#EL 5L 3,300 3,300 38
H % 22000 | 9,000 3,300 | 9,700
2 i 810,000 | 365,858 | 81,000 65,558 | 219,300




£ &t & '
(Sf 7 = 1HAR) ZiRkE  KER#HEFOE B : H
£8A| ®w B | mAm| xeE T 1t e i

HERRE PHEE | LKER | LEE ﬁ,ﬁﬁg ~BE ﬁ*ﬁ’ﬁﬁiﬁ&ﬂ&%)\ﬁ ALE |EBHE |55

R7.1.1 SRR SRR 5,500 5,500 39
R7.1.15 BBEEE 270,000
R7.1.27|$ AR O—EEEH 4400 4,400 40
R7.1.27| 424 —dwr s 0 — %A 9,000 | 9,000 41
R7.1.27] aF—#L 4L 3,300 3,300 42
A & 270,000 | 22,200 | 9,000 3,300 | 9,900
£ &t 1,080,000| 388,058 | 90,000 68,858 | 229,200

K AMRTHREL TS,




P
= &
SF0 74 2845) SRkE  KEHFO= !
ig sElnE
E£HH " = IRAZE | X%
AEWMRR R R EE AR AR S
R7.2.1 b Sl St 5,500 5,500 43
R7.2..26| 125 —y M EEH o— 58 A 9,000 9,000 44
R7.2.26 | iR H O —EE A 4,400 4,400 45
R7.2.27| at—®&L 4L 3,300 3,300 46
H & 22200 | 9,000 3,300 | 9,900
2 B 1,080,000/ 410,258 | 99,000 72.158 | 239,100




P = A
= 5t & &
(50 7 E 3B =ikd KER#EHOE X
. - - 18 g BURE
#RH m & IRARE | FHEE =
MEWRE| PR | GER | BBE | ol | SHE FEERETHEAN ANE | SBTE|ses
R7.3.1 TR 5,500 5,500 47
R7.3.20| RS E1/ERCHE] 255,640 255,640 48
R7.3.26{ 1> 54—ttt no— SRR 9,000 | 9,000 49
R7.3.26 | $rRim s 0 — 2R B 4,400 4,400 50
R7.3.27{ aF—#L- %)L 3,300 3,300 51
B & 277.840| 9.000 258,940 | 9,900
2 3 1,080,000| 688098 | 108,000 331,098 | 249,000




